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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [[’
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Trend plot forP3-14 0
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P3-14

BYiE) | GEBATIK () | ERE (EA/H) | EREE(B/R) | XS R

06:15 283 150.0 2. 888 RS FiHAe06:15 KREIEF (KREERE)
06:55 283 150.0 2.888 RS FhHAQO6:55 KENFEF (kAfEEER)
07:35 283 150.0 2.888 RS ThHA@O7:35 kENIEF (KAMEEER)
08:40 283 150.0 2. 888 RS FiHA@08:40 KREFEF (KREERHSE)
09:30 283 150.0 2.888 RS FmHA@09:30 KENFEF (kAfEEIER)
10:10 283 150.0 2.888 BE| FiHHe10:10 REEF (REAEHE)
10:50 283 150.0 2. 888 RS FhHA@10:50 KENFEF (KAEEE)
11:25 283 150.0 2. 888 B FhHR@11:25 KENFEF (RAIEEEE)
12:00 283 150.0 2.888 B ThHA@12:00 KENFEF (RA{EREEE)
12:35 283 150.0 2. 888 RS ThHAe12:35 KEIEF CRAHEERE)
13:10 283 150.0 2. 888 R5| TiHAe13:10 KRHERF (RAEHS)
13:45 283 150.0 2.888 B TmHA@13:45 KENFEF (RA{EEEE)
14:20 283 150.0 2. 888 RS ThHAe14:20 KEIEF CRAFEERE)
14:55 283 150.0 2. 888 RS| FiHAe14:55 RHEIEF (REERR)
15:35 283 150.0 2.888 Bg| FHAe15:35 KEEF (KAEKSE)
16:20 283 150.0 2. 888 RS ThHA@16:20 KENIEF (RAHEEER)
17:20 283 150.0 2. 888 B FiHFe17:20 REBF (REAERSE)
2it]4811.0 (17%) 2550. 0 3EUHIKEC: 2080.0, PH: 5.6

FEIKRECE (1927.0 vs 4070.0) d5




FRV (ml plant-1)

ET (ml/hr/plant)

P3-14_0, Day=69 (2025-06-08)
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P3-14

BYlE) | GEBRTIK () | ERE (EA/) | EREE(B/R) | XS R

06:20 283 150. 0 2.888 5 Bi%e06:20 B3 (REERSE)
07:00 283 150.0 2.888 5 B218@07:00 Bzh (FRFAEESE)
08:00 283 150.0 2. 888 5 B2i%@08:00 B3h (KRF{EREE)
09:00 283 150.0 2.888 5 B21%@09:00 Bzh (FFAEESE)
09:50 283 150.0 2.888 i B218@09:50 Bzh (FRFAEEE)
10:35 283 150.0 2. 888 RS B2i%@10:35 B3 (RFAERSE)
11:15 283 150.0 2.888 5 Bige11:15 Bzh (RAERESE)
11:55 283 150.0 2.888 A Bi1%@11:55 Bzh (RFAKESE)
12:35 283 150.0 2. 888 RS Bi%e12:35 Bz (RFEERSE)
13:05 283 150.0 2.888 5 B21%@13:05 Bzh (GAEESE)
13:35 283 150.0 2. 888 i BRi&@13:35 Bz (RPBEREE)
14:05 283 150.0 2.888 5 Bi%e14:05 Bz (REERESE)
14:40 283 150.0 2. 888 5 Bi%@14:40 Bzh (GRAERESE)
15:15 283 150.0 2. 888 i BRige15:15 Bz (RPBERE)
15:50 283 150.0 2.888 5 Bi%e15:50 B3 (RFEERSE)
16:45 283 150.0 2.888 S| FHiT016:45 Bah (GkAEREE)
23t 4528.0 (16)%) 2400. 0 32933 %EC: 2080.0, PH: 5.8
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P3-14

BriE) | EBIATK (D) | EHE (EH/H) | BEBRERE (/R |[XKS ERE

06:30 283 150.0 2.888 RS {Ri%@06:30 B (RFEEREE)
07:05 283 150.0 2.888 B 1Rige07:05 Bzh (REEESE)
07:50 283 150.0 2. 888 RS {Ri%e07:50 Bz (REERE)
08:35 283 150.0 2.888 A5 {Ri%@08:35 B (RFHEREE)
09:15 283 150.0 2.888 B 1Rige09:15 Bzh (REEESE)
10:00 283 150.0 2.888 RS {Ri%@10:00 Bzl (REAERE)
10:40 283 150.0 2.888 RS Ri%@10:40 Bz (REERESR)
11:20 283 150.0 2.888 B Rige11:20 Bz (REAERSE)
12:00 283 150.0 2.888 S| Rige12:00 Bzl (REAEHE)
12:35 283 150.0 2. 888 e Rige12:35 Bz (REAERSE)
13:05 283 150.0 2.888 S| 1Rige13:05 Bah (GREERESE)
13:35 283 150.0 2.888 BE| {Rige13:35 BHal (REAEHE)
14:05 283 150.0 2. 888 e Rige14:05 Bz (REAERSE)
14:35 283 150.0 2.888 S| 1Rige14:35 Bah (REERESE)
15:05 283 150.0 2.888 BE| Rige15:05 Ba (REAERE)
15:40 283 150.0 2. 888 BE| Rige15:40 Bz (REAERSE)
16:30 283 150.0 2.888 S| Ri%e16:30 Bzl (REERES)
2it] 4811.0 (17%) 2550. 0 3EUHKEC: 2080.0, PH: 5.8

MEBEHERE STAREARS (184.0 : 150.0), AIREHTF—@E XAH4
ZRIAEBRERE150. 0 ml.
FH[ERECE (1820.0 vs 3597.0) 45



P3-14_0, Day=67 (2025-06-06)
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m=420, FV0=0 m=530, FV0=0 m=595, FV0=0

40 - 1.0 i i
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35 - 0.8 1 33. 05 -
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33. 00
36 - 0.6
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P3-14

RriE) | EBIATK (FD) | EME (EH/) | BEBREE (B/R) |[XKS EFF

06:30 283 150.0 2. 888 RS B21%@06:30 Bzh (RFARES)
07:15 283 150.0 2.888 R Ri%@07:15 Bz (REAERSR)
08:35 283 150.0 2.888 | B31%@08:35 Bz (KPBIERE)
09:25 283 150.0 2.888 A BRi%@09:25 B (KREERE)
10:05 283 150.0 2.888 1] Ri%@10:05 Bz (REERR)
10:45 283 150.0 2.888 ] BRi&e@10:45 Bzl (RPEREE)
11:35 283 150.0 2. 888 A BRige11:35 Bzl (RPBERE)
12:20 283 150.0 2. 888 A Bi%@12:20 Bzh (GRAERESE)
13:10 283 150.0 2.888 (=& Bi%@13:10 Bzh (GRAEESE)
13:55 283 150.0 2.888 (=& B218@13:55 Bzh (RAEESE)
14:40 283 150.0 2.888 (&= B2i%014:40 Bzh (RAKRESE)
16:05 283 150.0 2.888 || FiTe16:05 Bzh (RAEESE)
17:20 283 150.0 2.888 (=& Bi8@17:20 Bzh (RAKESE)
23t 3679.0 (13%) 1950. 0 Z i KEC: 2080.0, PH: 5.9

MEBEHERE STAREARS (184.0 : 150.0), AIREHTF—@E XAH4
ZRIAEBRERE150. 0 ml.
FHEKECE (1773.0 vs 3587.0) 45



FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-14_0, Day=66 (2025-06-05)
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P3-14

BriE) | GEBERTC (FD) | EME (EH/AR) | ERERE (B/R) (KR IR

06:50 288 150.0 2.888 BS| 1Ri%e06:50 Bz (RF{REEE)
07:35 288 150. 0 2.888 | RE| 1Rige07:35 Hzh CGRAEESE)
08:40 288 150. 0 2.888 | M5| {Ri%e08:40 Hzh (KAEEHSE)
09:35 288 150.0 2.888 BS| 1Ri%e09:35 Bz (GRE{EEESE)
10:20 288 150. 0 2.888 | H5| 1Ri&@10:20 Hzh (KAL)
11:05 288 150. 0 2.888 | RE| {Rige11:05 Bzh CGREAEESE)
11:50 288 150.0 2.888 S| 1Rige11:50 Bz (GGREEEEE)
12:30 288 150. 0 2.888 | H5| 1Rige12:30 Bz (RAERR)
13:10 288 150. 0 2.888 | RE| {Rige13:10 Bzh CGREAEESE)
13:50 288 150.0 2.888 B 1Rige13:50 Bzh (RFMERSE)
14:30 288 150.0 2.888 BS| 1Ri%e14:30 B3 (GREMEESE)
15:05 288 150. 0 2.888 | RKE| IRige15:05 Hzh CGREAEESE)
15:45 288 150.0 2.888 BE| {Rige15:45 Bz CGREAERSE)
16:35 288 150.0 2.888 BS| 1Ri%e16:35 B (GREMEESE)
21t 4032.0 (14)%) 2100.0 32#%KEC: 2080.0, PH: 5.8

MERRNER 2 5STREAERSE (187.0 : 153.0), AJEEHF—RZ XA45
ZRIA L PRIERE153. 0 ml.
HERECE (1780. 0 vs 3447.0) i H 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-14_0, Day=65 (2025-06—04)
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Warning: lcol ["WC1',  "WC2'] missing
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0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
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o | OPtPHO=6.5, setPHB=5.8 ¢
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Warning: lcol ['PHB’,| 'PHC’'] missing
a00 7
Bylnit @DGQ 02:00: ET=1970 Fg=2400.0 Ro=531.0 t
300 I - 3000
1
|
200 : - 2000
|
100 : - 1000
1
400 4 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
5 | i | g | Bg | g | G| G| BE | G | P i 5 5 | BB | BB | BB | B 5 5 5 5 5 i 5
300 - ] - 3000
ByEt @D65 19:06: ET=2276 Fg=2601.0 Ro=nan 1
200 - - 2000
100 - 1000
e —— o—
400 4 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
g | B | B | B | B |KB|[B|B|B|B| B 5 5 5 | BB | BB 5 5 i 5 5 5 i 5
300 I - 3000
ByWoFv pDGQ 02:00: ET=1713 Fg=2100.0 Ro=458.0
200 : - 2000
|
100 : - 1000
1
1.0 0
210 1 2 3 4
osl fE | B [ | BE | R
0.6 -
0.4 1
0.2 A
0.0
—_— 4

—@— PPFD obs

| _obs

60

40 -

RH
RH_obs
RHo obs

hour

FRV (ml d-1)
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